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J[=¢iva B=HE % SpiEs BEH LEE, FEDR
1[5 D minE 1,980 = PE
2 |E4AK EE |EFE 1,909 = PE
3 |FNHE 3Lz mAE 1,472 = PE
4 & Bk minE 1,428 = PE
5 |XKE B minE 1,373.578 = PE
6 |8kRE —EF minE 1,355 = PE
7 R =—8 |EmE 1,335 LE
7 |BE & minE 1,335 = PE
9 | KEM E— |EmME 1,289 = PE
10 |k =k NEATE 1,272 = PE
11 |8RE =7 minE 1,268 = PE
12 |AH —2 mE 1,244 = PE
13 |fs & mE 1,184 W
14 |8 Ex manE 1,156 =PE
15 | ¥ BE— minE 1,148 = PE
16 |JIX f#— minE 1,108 = PE
17 |22 =F mAnE 1,100 = PE
18 |8 =& mAnE 1,087 = PE
19 |&EHE  JoEk mAnE 1,082 = PE
20 EO MIS mE 1,081 = PE
21 AR EE mAnE 1,076 = PE
22 |=tn Fn mE 1,074 = PE
23 |BZH ~— [2HAR 1,047 =PE
24 | K#E 5L mAnE 1,026.421 = PE
25 | BEH —if mAnE 936 = PE
26 |BA EiA mAnE 924 = PE
27 |BE mAnE 923 = PE
28 |[/NE mAnE 830 = PE
29 |fRIX IE HARHER 716 e
30 |BAR KRE mAnE 704.000 e
31 [AfE A% |EFRE 600 e
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